Real-Life Situations Involving Average
1. Decide whether to use exact count or average:

a. A machine makes 1000 components in an hour without a computer.

b. A product is on an assembly line where a computer and robot places items into package.

c. A machine is programmed to put the order amount in before the product is manufactured.

d. A 500kg rod of steel is put through a machine and cut into 3 inch pieces and dumped into containers at end of machine.

2. Calculate the average

	
	Weight (kg)
	Estimated Count

	1
	5000
	2500

	2
	5000.5
	2501

	3
	5001.2
	2502

	4
	5000
	2500

	5
	5002
	2503

	
	Average=
	Average=
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